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Mera Chunk: Activity |
18/02/22

Do activity with your chunk. Only with your chunk.
( You shall not covet your ne@ﬁﬁorff ,barmer)

1. Identify and name the orbitals given below
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2. Examine the figure given below. Discuss with your partner and make a note on the given
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3. Shown below is the Molecular Orbital diagram for two MOs. Identify the Atomic orbitals
taking part in the formation of MOs, the type of overlap between the atomic orbitals and the
molecular orbitals formed. Differentiate between the Molecular Orbitals 1 and 2.
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4. Indicate the kind of molecular orbital (o, 6*, 7, n*) that results when the orbitals are
combined as indicated:

. +x - o) + (e

b."+‘ d..‘+°

5. Show below is the illustration of a hybridization. Identify the hybridization. Discuss with
your partner and find why the size of two yellow lobes are different.
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Do activity alone and discuss with your chunk.

1. Shown below is the movement of electrons in a chemical reaction predicted by two
students 1 and 2 to form the organic compound A. Identify which student is correct in each
case and discuss it with your partner
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2. Draw curved arrows to show the movement of the electrons in the following reaction
steps.
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3. Draw curved arrows to show the movement of the electrons that result in the formation
of the given product(s).
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4. Draw curved arrows to show the movement of the electrons that result in formation
of the given product(s).
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5. Draw curved arrows to show the movement of the electrons that result in formation
of the given product(s).
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6. Draw curved arrows to show the movement of the electrons that result in formation
of the given product(s).
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7. Draw curved arrows to show the movement of the electrons that result in formation of the
given product(s).
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8. Draw curved arrows to show the movement of the electrons in each step of the following reaction
sequences
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9. Draw curved arrows to show the movement of the electrons in each step of the following reaction
sequences
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10. Use what the curved arrows tell you about electron movement to determine the product(s) of
each reaction step
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Do activity alone and discuss with your chunk.

1. Which is a stronger acid and why?
a.

CHE'.’_lTHCHEDH or CH;(]:HCHEDH

I Br
b.
F F
CH;CCH,OH or (ITHICHCHZOH
: :

C. CH;OCH:CH:CH:OH or CH;CH:OCH:CH:OH
L i
d. CH;CCH,OH or CH;CH,COH

2. Rank the following compounds from strongest acid to weakest acid

E‘H:?HCH:CDDH CH-CH,CH,COOH LFHECHECHECDDH CH;{l’_‘HCHJCDDH
F F F F
3. If HCl is a weaker acid than HBr, why is CICH2COOH a stronger acid than BrCH,COOH?

4. Which is a stronger acid? Explain
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III Semester Complimentary Organic Chemistry 02/11/21

QuestionandSchemdor PeerAssessmet

1. What are Carbocations? Discuss the relative stabilities of Carbocations in terms of
inductive and hyper conjugative effect (8)

2. Aniline is more reactive than benzene towards electrophilic substitution reaction.
Explain. (2)

Scheme

1. Cationic intermediate with a positive charge on carbon with six valence electrons (1 mark).
Presence of electron releasing group disperse the positive charge on the carbon and hence -
stabilize the carbocation (0.5). Alkyl groups show + effect in the direction of positive charge
in the carbocation and thus disperse the positive charge on the carbon. (0.5) Greater the
number of alkyl groups attached to positive carbon, greater would be the stability of
carbocation. Hence 3° carbocation is more stable than 2° which is more stable than 1°
carbocation (1). Depict using a drawing (1). Positive carbon in carbocation is sp2 hybridized
hence can make a sigma - p hyperconjugation with its vacant unhybridized p orbital (1).
Greater the number of alpha hydrogens attached to positive carbon greater will be the
stabilization of carbocation. (1). The number of alpha hydrogens and number of
hyperconjugative structures decreases in the order 3°>2% 1°(1). Depict using a drawing (1).

2. +M effect of -NH2 group increases the electron density over the aromatic ring in case of
aniline (1 mark). Depict it with drawing (1 mark)
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